PROBLEM 1
Suppose P(A)= 0.55, P (B)= 0.32 and P(
[image: image5.wmf]) = 0.20.

(a) Determine all the probabilities needed to fill in the accompanying table.

[image: image1.wmf]B

A

-


                                      B                                
[image: image2.wmf]-

B


	                         A
	
	
	0.55

	                        
[image: image3.wmf]-

A


	                  0.20
	
	

	
	                  0.32
	
	


(b) Find the conditional probability of  A given that B does not occur.
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